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AT - I/PART -1
I %8 ud RN/ CHILD DEVELOPMENT AND PEDAGOGY

P : FreforR s & awr 33 % R el Ry g

Direction : Answer the following questions by selecling the most appropriate option.

1. Preitae & s@ & "dm 233 3 R
| HETEE B

(1) SR

(2) e fE

(3) A=A HE

(4) THOHE HEER FT

2. UF 9% 3 AMEIET B HEE Em
s i Fefefaa § § P9 ofafy
ERicall i A
(1) woe fveor
(2) TR :

(3) WSIE=HY Srgama
(4) Sf-weEo

3. F BT 3 W@ 3 fwg § Pl
%3 7T w99 fear k7

(1) @ sfefE sfrm zZm ofEr
B &

(2) Ha7 = e B

(3) % W § UH WA o€ A 2

(4) T @ I A A far By

4. "l foem & awed B

(1) =FRFE Frearelt A 9 waney
H Q1

(2) =fm Fmst R s
¥ &

(3) =fRrm frrmalt &t Rfre Reear
o 9y F |

(@) =T Rl @ W W SR
3T T FA|

Level-3/163

1. To cooperate the adolescent it is
essential to
(1) Inspire
(2) Indicate his mistakes
(3) Criticise him
(4) Do negative behaviour

2, Which of the following is not a

suitable technique used by teachers
for socializing the child ?

(1) Direct teaching

(2) Identification

(3) Democratie discipline

(4) Over-protection

3. Which of the following is a wrong

statement about emotions of an

adolescent ?
(1) Emotional  expressions are
modified by learning.

(2) Emotions are permanent.

(3) Every emotion is accompanied by
a feeling.

(4) Emotions are aroused by external
stimuli.

4. Inclusive education means

(1) Meeting individual differences in
general classroom.

(2) Meeting individual differences in
different classroom.

(3) Meeting individual differences in
special schools.

(4) Meeting individual differences in
home based instruction.

P.T.O
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5. fsiEen § aFEn 7 wgltt o Al
T g9 g ¥
(1) Fvers &
(2) w-foe @
(3) #i-afedt &
(4) wwiaEl @

6. oE 7 s # g9t w9 &
o o1 v B, o s

(1) AT =t T 6w
(2) ¥ IT T T 4
(3) Werd afRrE H FETa g
(4) 2wt &1 T w1

7. FEwemm f=e afle & 3 aae ol
o Bl &0 T e &, @ R

(1) o F9 W= FE
(2) S =, Ryeww, gwiE A
Frepd Fvemrer |

(3) B I H 3w Fdor w0

(4) wioirm % R & Reem &)
8. o A wewsl EZw B &

e i wEew R b
(1) WREE (2) ST
(3) wE=EE (1) FdEme

9. Frefofes & & Fw Fesioeen &
A B & oF Ay TR 7

(1) 9 59 §F W 0F 6w
B

(2) Pl fm & 9 s dmn
@ ¥R w99 7 Wl i o

(4) Pftrz sfedt & R g

Level-3/163

(4)

.  Moral

. In adolescence behaviour and attitude

are affected mostly by
(1) Teacher

(2) Parents

{(3) Peer Groups

(4) Films

values can be effectively
inculeated among the students when
teacher

(1) Frequently talks about values.

{2) Himself practices them.

{3) Tells stories of good persons,

(4) Talks of Gods and Goddesses.

. Critical thinking helps a person in

developing abilities and skills for
(1) providing concrete experiences.

(2) proper interpretation, analysis,
evaluation and inference.

(3) creating and constructing
something.

(1) thinking about ways of reacting.

. Best method of dealing with adolescent

by parents and teachers is
(1} Autocratic (2) Permissive
() Democratic (4) Restrictive

. Which of the following is nmot a

characteristic of social development in

adolescence 7

(1) Active member of their peer
group

{2) Being an attraction towards
opposite sex

(3) High decrease in friendly
relationship

(4) Extension of special interests
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10,

11,

12.

13.

14,
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oF fFei o 9 =Y ¥ 518 F &
H @ A o frEen, s@ fEEE ow
FT &

(1) A9 FTET
(2) FAFEmE TR
(3) A TEET

(4) wefr Faae wé

HOET SR AN g 8

(1) & 9w 4
(2) weiedl & faer R &

(3) W gEN (¥%7) g &
(4) TR TER 7 A

‘FAq ST @9E gEET’ (CCE) #

WA ¥

(1) 39 q9F & TG BT
FHE |

(2) Pre| & |l o g B |

(3) ¥4 B & 1 F THF F0|

(4) FaW BFE F THA B JediHT B |

Frefafag & & #9-8 Tomes AoE
Fi s (dv) @ TR 7

(1) T

(2) Hiferw

(3) T
(4) A

afer ufewe & anad &
(1) 9% % Ee § B9 amm qiEd |

(2) T 3t R fBfegt # ofteds)
(3) IZHAER] F THAW |

(4) g OO A
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(5)

10.

11.

12.

13.

14.

A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

{3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the

problem of

(1) Speaking accurately

(2) Writing
mistakes

without  committing
{3) Listening message properly
{4) Doing mathematical calculations

Continuous and  Comprehensive

Evaluation (CCE) aims to evaluate

(1) The reasoning of child only.

(2) All aspects of development of
child.

{3) The knowledge of child only.

{4) The understanding of child only.

Which of the following is neot a trait
(ability) of a creative child ?

(1) Elaboration
(2) Originality
(3) Accuracy
(4) Novelty

Learning outcomes means

{1) Change in the behaviour of the
student.

Change in teaching method of the
teacher. '
(3) Recognization

(2)

of the subject-
matter.

(4) Completion of content.

P.T.0.
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15. "t & Rrddimor e ang B 2 7

(1) 7= & 99 3 599
(2) A9aEE & A0

(3) FPeiRmEen & 4nm
(4) ToEEE & AR

16. AEH % AfFE @R B oq o i
Pl & & @@ meee sugw

7o 7

(1) Tl At F S 2 a9 |

(2) 39gF gEw v amll Suwer
A e | :

(3) 3% Mg (F9w) F ¥ =fewy
(4) =TS wfad & afen)

17. Bt 3 |99, B =9 § ety
Rl % g w1 w0 w9g w7 ooRE

TETE ?

(1) HEEHEE IIPH
(2) HAAES I
(3) wafea Tupm

(4) st I

18. ERME TER Wewqd  ufE @

FrdeT &t &
(1) 9% % a9 A &

(2) 9% F FEfE Fem §
(3) TwE & arifs BEm §
(4) 5% % A e §
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(6)

15. Differentiation of emotions takes
place at the time of

(1) Birth of child

(2) During infancy

{3) During the period of adolescence
(4) During adulthood

16. Which of the following provision is
not suitable to meet individual
differences among learners ?

(1) Their abilities should be assessed,

(2) Adequate facilities and material
should be provided.

{3) Labelling them.
(4) Making Individualisation necessary,

17. Working with adolescents,
particularly maladjusted one, which is
not appropriate ?

(1) Critical approach

(2) Democratic approach
{3) Collective approach
(4) Ideal approach

18. Heredity plays most important role in
the

(1) Emotional development of the
child

{2) Bocial development of the child
(3) Physical development of the child

(1) Cultural development of the child



20.

21.

F oS GENE B e dEd § e
) A S ¢, HiE

(1) T8 SHIEE I TET § Ee
foreet &)

(2) TR W V9% & A e
et 21

(3) wEgEE] B W aie d FHeE q
wEE e #1

(4) =HY w99 $ ToT Bl B

wHt % qieen # Fefatas §
& #-4 R 77 7
(1) RwEwiEn (2 e
(3) e (4) TR

P = @t Freaffeag & 8
-t Frdrgend & 7

(1) BET =IO WEE F A &,
Prepd P ot om Freedl @

qE FT |
@) 7 T, aEiRe R o ¥

(3) FAATF AMFE WA uE H
EE T

(4) B ‘HE' T F TS £

99, freffaga & & $H-T1 APM T &

qHEES a0 SeaRe st @ o
Frm & 7

(1) uBw # Faw
(2) Iy =
(3) T & e

(4) wAgR @ Fam
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(7)

19.

20.

21.

22,

A

The knowledge of principles of
learning is must for a good teacher,
because

(1) It helps in maintaining discipline._

(2) It helps to make
interesting.

(3) It helps to understand the content
by simple methods.

(4) It saves time.

content

Which of the following characteristic is
not correct about ohjective type testing ?
(1) Reliability (2) Objectivity

(3) Validity {4) Subjectivity

Which of the following is the
characteristics of  constructivist
classroom ?

(1) Students design
draws conclusions and compare
their findings,

Knowledge is objective, universal
and complete.

experiments,

(2)

Teacher transmits authoritative
knowledge to students.

Students look for the
ATISWET.

(3)

(4) 'right'

Which of the following is the primary
law of learning propounded by
Thorndike 7

(1) Law of analogy

(2) Law of exercise

(3) Law of assimilation
{4) Law of disposition

P.T.O.
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23.

24,

25.

26.

217.

e & AN g ad AR @
T Woae R e §
a8 W R, 9 Rew Rt §
H P8 wafy f g & 7

(1) =t s amy

(2) il BT smafy

(3) E-rerE fy

(4) g vl wafy

Uh AIE F GIAHEN F w e g
IHERE o o= ¥ oAy omihis
e 1 WY T 8, 78 SeET ¥

(1) T JafEs oy

(2) S0 JaiEE o

(3) HoEEE o

(4) W9 49 dafEE o

TE TG TERE W A R e
# AE FH, FERE S a9 = o
T F 999 F 8, Fean &

(1) sl (2) sifgemon

(3) sfgfy (4) @

TG A A AT F omEE  wrEf
B o & it a9 3=

(1) 3 @ (1.Q.) &t 4

(2) e afr (A.Q) B &

(3) wiRfe afEr (£.Q.) & &

(4) smes wfer (S.Q) B B
fowm ame: ot @ 9 A o amay
gl 2, fwm W 3% Rrars s &

(1) fawed & owme

(2) DT (vt & Tt # 3R
(3) | § fafime

(4) R
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(8)

23.

24,

25.

286.

27.

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development oceurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high
in academic achievement, poor in
social  development. This is  an
example of

(1) Inter individual differences

(2) Intra individual differences

(3) Individual differences

{(4) Measurable individual differences

That internal state of mind that
arouses, directs and maintains
behaviour iz called as

(1) Interest (2) Opinion

(3} Attitude (4) Motivation
Some people adjust easily with new
people because they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head to foot, this principle of
development is called

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific
(4) Cephalo Caudal



28,

30,

At #Eg owrm ® e #

PrefafEg § 4 5t #59 THTE I8 B

(1) 98 fermddal it GrganaT, ey
arr sftpm it 1 = T R

(2) 98 F=UY, JEEEA G @ #
e T a9 37 ¢ |

(3) 95 AANE B SAREEET W OAE
T T & 36 &

(4) T& IFVET-AH, THE-HEYHE,
TUEg-AAeE ad gemeie-aEd
i it & wE@ FT R

‘B Bl A e A ol

sl aw o= & =EeR #
Fed & 7

28.

29,

30,

A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation

(2) Extrinsic motivation

(3) Mathematical motivation

(4} Intrinsic and extrinsic motivation
Which of the following statements is not
eorrect about learner centred approach 7

(1) It takes into account learner's
capabilities,  capacities
learning styles,

and

(2) It stresses the importance of

enquiry, and

investigation.

(3 It emphasises transmitting
‘knowledge to the learner by the
teacher.

observation

(4) It uses methods like experiential
learning, problem solving, concept

mapping and creative writing.

A child's attitude 'l do not care' is a
type of behaviour which can be

called

(1) HATHTTRAT {1) Aggression
(2) YrETHE (2) Defence
(3) T (3) Denial
(4) 99THA (4) Retrogression
Level-3/163 P.T.O.
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AW - IVPART - I
a7 - I (f8=t) / LANGUAGE - 1 (HINDI)
R : it el @ awe 33 2 e wad ol e g

il

32,

33.

34,

a5.

ogw e F1 e
(1) RwfE = A + fm

(2) THEMET = THT + 917
(3) & = 79 + &
(4) Mg = &A1 + Ay

‘qreoty g ¥ - geg @ 7
(n 7 (2) @

(3) A
‘a6 o 9T gwen R wr A - @ R
0% = g

(1) @™

(2) e

(3) =

(4) ST=HET

‘S iR o R | e e -
% fomww = B

(1) g

(2) SAroEfE

(3) miftEafeER

(4) =

Fre o=t & | 9T o= wmErR 7
(1) ™

(2) Faem

(3) wwEIET

(4) %=

(4) a4

Level-3/163

36.

1.

38,

39.

e gH o @ ¥ e ay T
TH A B 7E7 I &

(1) SE JoH
(2) BPRTHT

(3) wiRY o

(4) APt Eww

‘P w1 aifarfed w=n & mF & gon
B - 3 R gw o= 2

(1) Fg=

(2) FHA

(8) a1y @

(4) T

w o= § wim # g @ Rwie @
v T, oftg fefE aRa sEm B
TR 7

(1) wif

(2) g

(3) =

(4) R

o= & A ge W o g w0
H Jefgan e ?

(1) Ftedt

(2) wre

(3) T

(4) WA



40.

41.

42,

43.

44,

Y g @ g gF W oA HA
R 9% i #ifm

) gt @

(2) | 9d

(3) HE= g4

(4) HR™ 9a

sl it gfte A W g w7
(1) =09

(2) WEEES HE

(3) ety

(4) &

PA-T 9= ‘oY’ F wiEE 7o e 7
(1) FrEg

(2) fafirEmE

(3) =9

(4) R

e o= i FEt a2

(1) 75+ 4

@) 765+ &

(3) T6 + 7

(4 M +a

‘Gt o= B g G frede A
(1) T + 9%

(2) T + FEw

(3) 4 + @

(4) AFF + §¥
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45.

46,

47.

48,

49,

=t @t ‘F @l e #t gfte F 2
(1) FEIHT-FE

(2) HETHTOT-H

(3) FEIAT-FHET

(4) HETHTI-3THT

‘TR’ 9= I9gE @AE HOFEE
ETd

(1) Faian aegey

(2) i aegey

(3) - 9T g

(4) =gt gy

G AT T YT T 5FL, AT T
g7 @ g9, dw T - o ®
forn et o # =9 i

(1) weME & o i REemr

(2) 7, o, 7w F @ q6w gw @
(3) EYE aega °§ & 0

(4) TEEl & SR | EE A

auat e g= B
(1) g

(2) g

(3) wwafas

(4) Fde

arger B o
(1) -

(2) SgHo-HggEEa
(3) FEE-FriEa
(4) doT-TEo

P.T.O.



50.

51.

52,

53.

54,

‘e Few s oo 7
(1) ard
(2) W
(3)
(4) e

F O I ... B R
o & v g o= % 999 ¢

(1) o=

(2) 7=

(3) T

(4) T

fow o= & atarg @ow w o e
g ?

(1) FETE

(2) AT

(3) e

(4) FAFHL

‘ﬁ'wﬂwwm?
(1) A

@ ¥

(3)

(4) T
?ﬂwﬁm‘fﬁﬁrwm 7ET g
?

(1) THHvsH

(2) Tarmm

3) oo

(4) T
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P : R 7oty @ e 3 97 ok
g8 T e (T G5 56 6 60) F g Hw -

i e & B B Pl ¥ wg oo 3
de o - frere A A oo @ R

) @ aRE @ e A A g A o
FAI-WEREY F ol WHE H aeifaE qome
# fewm a7 T MR Fw @ R ae



A @ g & ¥ A dEe T gen
oy Hifew § g9 R # ot & 5y
W e oeEA R 9T e O § el
mRal | 3 FI A &) AEaE T

§ 7 g9 T a8 W % e geg W
& w0 H g w9 e |

TE TEE @ aEE ot # g ¥ ) e
F TeEE B BEHT 97 A5 H AN A
7 & om ddwRim i # gEEe e g
afe SemE & SgET Ja B 06
v g A e 3 ety & dea
o7 ofEdT @R oRmeE @S 3en T a4
W T WO & AW W 8 0 s
qrent i g P gufom en oo ot
qm @ ¥

Y 9 T ¢ B oonha # gE gmm

(13)

57.

58.

irem g4 fardelt & -

() #E wEE #

(i) HEMH TR %
(iii) 7ot R B

(iv) Bt foas ofitweT &
afem Iu faees # ﬂﬁt{ ;
(1 (@) W )

(2) (iii) T (iv)

(3) F (i)

(4) #a (ii)

wﬁrﬁﬁmmﬁaﬂwm

a7 & B Al ol ol ageie wT
T @ 8 | s R § sy @ et (@ A6
vd A d A9 W GO9S FG H et A
@1 1 OF ST B a9 ™ R e A it A 5
fogs o T A A A T A A EE | el
s @ 2 wF ot @ R B o W B (1) T
WO F G ST FEgAN oA & @) fer
o AFEE & g SEH O 9 3F ¢ e s
1 3% & e R s ®
(4) Hfgw 724
56. AHE TN P g @
: 60. @At wa § difes G @
(1) HY TWER
(1) S
(2) iy By {
(2) WU & FEET
) Neoe B AN (3) g H Feat § @1 HFW
(4) wh ey e # (@) wier A
Level-3/163 P.T.O.
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I - I11/PART - 111

ST - 11 (3{AST)/LANGUAGE - 1T (ENGLISH)
Direction :  Answer the following questions by selecting the most appropriate option.

61.

62,

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

I suddenly realized I (watch).
(1) am being watched

(2) have been watched

(3) am watched

(4) was being watched

I must finish this.

The underlined word in the above
sentence indicates

(1) Mecessity

(2) Determination

{(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is
given :

Copi.......... = Plentiful

(1) ous

(2} some

(3) ose

(4) ful

Level-3/163

64. ‘'l don't enjoy going to the dentist.'

65.

66,

The word ‘going' in the above

sentence is a/an

(1) Present participle
(2} Infinitive

(3) Perfect participle

(4) Gerund

Choose the eorreet indirect speech of

the given sentence :
Mother said, "Don't go to the park.”

(1) Mother asked us not to go to the

park.
(2) Mother told us not to go to the
park.
(3) Mother said us not to go to the
park.

(4) Mother said to us to not to go to

the park,

Which of the following expression
means 'extremely happy' 7

(1) be a basket case
(2) fall off your perch
(3) be off your trolley

{4) on cloud nine



67.

68.

60,

Choose the

construction of the sentence :

correct  passive

Auctioneers will sell the painting at
auction.
(1) The painting would be sold at

auction.

(2) The painting will be sold by the

auctioneers at auction,

(3) The painting will be sold at
auction.

(4) The painting will be selling at

auction.

Identify the figure of speech in the
following sentence :

I must be cruel, only to be kind.
(1) Epigram
(2) Paradox
(3) Amnalogy

(4) Metaphor

Which of the following words is mis-
spelt ?

(1) ineongruous
(2) chronological
(3) synchronus

l-{-i] sympathetic

Level-3/163
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Direction : (Q. Nos. 70 to 74) : Select the
sentence that is grammatically correct :

70.

71.

72,

(1) My brother is the student in
Mayo College.

My brother is student of Mayo
College.

(2)

(3) My brother is a student in the

Mayo College.

(4) My brother is a student in Mayo

College.

Neither of them were present

there.

(1)

(2) Neither of them was present

there.
(3) Neither of them present there.

Meither of them
there.

(4) are

present

The roses smell sweet.

(1)
(2) The roses smell sweetly.
(3) The roses are smelling sweetly.
(4) The roses are sweetly smelling.

P.T.O.



73. (1) You certainly did not ought to do

74,

75.

(2

(3)

(4)

(1)

(2)

(3)

(4)

Choose
transcription of the word 'Locate’

(1)

(2)

(3)

4)

(18)

it.

You certainly ought not to have

done it.

You certainly did not ought to
have done it,

You certainly ought not to have
been done it.

Who was the book given to ?
Who the book was given ta ?
The book was given to who ?

Whom was the book given to ?

the  correct phonetie

MNuket!
fNokeit/
Noukeit/

Nauket/

Level-3/163

T6- Choose the correet direct speech of

77.

78.

the given reported speech :
He said I'd better go because it was late.

(1) He said, "You'd better go because

it's late."

(2) He said, "I'd better go because it

was late.”

He said, "You'd better be gone

because it was late."

He said, "You'd better go because

it was late,”

Which of the following is spelt

correctiy ?

(1) Pediatrician
(2) Padritician
(3) Pedaitrician

(4) Pidiatrician

In which of the following sentences do
we need to insert the definite article
‘the’ ?

(1) They are all busy growing things.

(2) We do not generally speak of

farmers "growing animals’,
(3) Why do people work ?

(4) They are different from rest.



79. Which of the following sentences is
correct ?

(1) My father's foot was put down
when [ said I wanted a car for my
seventeenth birthday. He said 1
was too young.

(2) My father down put the foot when

1 said I wanted a car for my

geventeenth birthday. He said 1

am too young.

(3) My father put his foot down when
I said | wanted a car for my
seventeenth birthday. He said I

was too young.

{4) All options are wrong

80. Since you were not there, | left a

message with your sister,

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time
(4) Adverb Clause of reason

Direction : (@. Nos. 81 to 85) : Read the
following passage and answer the queslions
by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that 'its price 1s
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/163

(17)

A

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
requisites is the utter absence of all

pretension.

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
‘fairly worth the seven'. It is a kind of
mental instinct, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot pronounce on what we do not
know; and on the other hand, the laying in
of a stock of knowledge, or mastering any
art or science seems to destroy that native
simplicity and to warp and trammel the
unbiased freedom of mind which is

necessary to its receiving and giving their

due weight to ordinary and casual
lmpressions.
R81. Common sense is a rare and enviable

guality because

(1) Its price is above rubies
(2} All learned men have it
(3) All men are without it

(4) Very few have it

P.T. O.



A

82.

83.

B4,

Ba.

What is not a requisite of common
gsense ?

(1) the utter absence of all
pretension

(2) bigotry and narrow minded
notions

(3) truth and propriety

(4) an unbiased freedom of mind

Which of the following is not stated
by the writer in the passage ?

(1) Affectation destroys common
sense,
(2) Common sense requires the

utmost simplicity and sincerity.

Common sense feels the air of
truth and propriety as the fingers
feel objects of touch.

Common sense destroys the

native simplicity and warps and
trammels the freedom of mind.

3

(4)

Fill in the blank with the maost
appropriate word :

Common sense has been well
pronounced to be ‘fairly worth the

BEWRN i
(1) Notions
(3) Talents

(2) Sciences
(4) Wits

Which is not a synonym of the word
‘pedant’ ?

(1) dogmatist

(2) formalist

(3) perfectionist

(4) down-to-earth

(18)

Direction : (Q. Nos. 86 to 90) : Fill in the
blanks with the most suitable option :

B8,

B87.

B8,

B9,

90.

vssceenns €hild should learn to read and
write.,

(1) All (2) Ewvery
(3) Whole {4) Both
Can [ ask your ........... , do vou think

TV violence is harmful ?
(1) opinion (2) favour

(3) question (4) advice

Where is my wallet ? I left it
the kitchen table.

(1) at (2) in

(3) on (4) by

Take some medicine and the pain will

= I
(1) back (2) off

(3) out (4) away

The walkers finally arrived at their
destination. They ............. all day, and
they certainly needed a rest. They ......

thirty miles,

(1) had been walking: had walked
(2) had walked; had been walking
(3) walked; walked

(4) have been walking; had walked

Level-3/163



Az : 85 aw ypst & §'57 &= st fe § Phes §57 6

(19)

q0 - IV/PART - IV
Uargt/daTE/ (PUNJABI)

91,

92,

93.

94,

fenwrags & fd& aar feg <o far
a7

(n € (2) ¥+

(3) 99 (4) fI5

wifizr law faw avd & Auear adt
a7

(1) izsst
(2) wrawt
(3) &AMt
(4) wiaw

‘WEF g I TE 58 By v dug &

37

(1) et <7 fiw
(2) T8t Hos filw 3=

(3) . ygw friw
(4) "9 fiw mate

yTE & 99 -

‘Quwt few fm ffar at......&@t 79 !
(1) Ayt &r

(2) gt &

(3) Haofswt or

(4) dtmt v

Level-3/163

05.

96.

97.

98.

A fitw &t e uzes few fagg du
o ®9es atzr famr 7

(1) widpt 3 fAwt & 9o
(2) daret & gu
(3) uetuz & wu
(4) wd feasy a=z o5

I fetut dat faw o<t &t ow 7
‘wdter aEte foas ofs wg &fs fimrd

agil
g5 3 fon dust oot 7 g2 Agl

(1) 39 7o ¥=
(2) BT gH&

(3) 8§ =9
(4) By gdte

fagtwt o g9 faw gt < gusr 7
(1) A. R Wigr

(3) varEa

(2) uH
(4) mawtg ugg

foamsr Fawe' uazg faw aoet few
nrier &7

(1) FwTs

(2) var= &t dt
(3) uesT

(4) wrait &t ot

P.T.O.



99,

100,

101.

102,

MAT U7 giEeast uet

faar g5 It 37 & wre,

AEt duet aat amvet)”

feg dastmt fawr a=t gt o5 7
(1) o fiwr

(2) ofggws fiur

(3) um

(4) T8 =7 fhw

W m@st e @ mewad o wt =
a7

(1) gongs fAw
(2) aees fiw
(3) @ 9w fidw
(4) =, Ja¥es fiw

fegt fe¥' Hu mae & 5= &7 -
(1) y&a

(2) yie

(3) udg

(4) Yag

Foet wgt Wt ' UT few wE mme -
wEE I & = g7

(1) AEF = AWt

(2) AW & Ayt

(3) gufas & mt

(4) aF = At

Level-3/163
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103.

104.

104,

106,

gfear : Har filwt 3 fedaiet feg e
e B2 T gt g §;

(1) &3z afdar
(2) ®97 gafdar
(3) ®797 ggaT

(4) 9w sodfsar

‘Uuad’ HEY o &t ey 37
(1) v gdar

(2) I8t T3

(3) ge Jer

(1) 737 o S

"dt, sart T Baohe @ A9 aw &
§vaw e der 3, Ows &t afie 057
(1) e

(2) Fdom

(3) fafowr faime

(4) mEe

Wt oy W faw dwar @ ausr 37
(1) #ar fitwr ffgaars

(2) wierfew fdgears

(3) etm=w fdgeaa

(4) wa feasy amz o5



107.

108.

109,

110.

fext fod erame® o dne yfio 52w
faaar 7

(1) wWh
(2) 35 =fder faor
(3) der I miwg

(4) a1 T wE

waw fiw mefane € faos s=% §
Faat mfogamaedt e fesw fufemr
At ?

(1) ufdzs ynit

(2) fder =g

(3) »ig fufgor &5

(4) fex fimrs € I@=t

st wfoe’ faos. ag wfow & sesr
a?

(1) g waws €= #At
(2) 99 &ad o At
(3) g Jar woee At
(4) g aifde fiw =t

‘at &t oy fsaser yor=e & & »ew

a?

(1) &t @ wigr I AT
(2) g @t J=r

(3) 599 87 Ter

(4) Ao feawy IB3 05

Level-3/163
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111.

112,

113.

114.

gemm flw faw damdt awd €@ Wy
AU RS 7

(1) sam=t

(2) nirant

(3) \izmat

(4) fgaw

Uwg maae e faosr fegwr 3, froer
d=5 g ©f 53t =6 aan ader Jd 7
(1) &= duga fesmar

(2) FEsE AIEE fearar

(3) 7w fegar

(4) 8= feavre fegmar

I fafimt fed fo mae faoar 97
(1) #=

(2) ¥¥

(3) #§

(4) 7¥

‘Fast mfog wEredt’ e w39 fdw
Afaz 37

(1) sfmrer

(2) wmeIT

(3) &=t

(4) d=tag

P.T.D.



A (22)

115. =8 mad’ fado few »re mue, 119. ‘=rfe sedt’ urge @ duew or &t o7
WaET I at g ¥ ) wawew B
(1) <= (2) ofssas fwr
(2) wafmrar (3) . 37E friw
(3) ser (4) wd feasy a=3 o=
(4) g - 120. ‘I Fv9r e ufosr gear faw a=t ot
FgET J7
116, ‘Faatf goet v duw = 37 -
(1) 4. ya& fiftw
(1) ges i
(2) . 3o fiw
(2) »ntT &9
(3) == gu fiw
(3) U4 yam
(4) Fet St fiw
(4) g=dz fiw feam
121. faws fed fausr z=s "z fiw
117. 91g &aa €< Al & 70 a2 Jfewr? d=w afsz 57
(1) 1269 . (1) dwa
(2) 1369 &, (2) =t
(3) 1469 ¥t @) =t = g
(4) 1569 =, )
118, ¥ ¥ fa 58 Fum lﬂa.gﬂemmarm
fvfanr w7 '
- ) (1) 99 &sa 2% yateainal, nifizne
@) . (2) Unmw gateainet, It
@ (3) swr feawar, dam, ufewrsr
&) WP . (4) UwrHEt gateafned, ufewrsr
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123.

124,

125.

126.

¥5 fedtat Jat faw g wiow epar

T5 7
VAT W& B9 39 SRS IEt
fasy @@ ofaa at femret)
(1) 39 &ax o< At
(2) 9 »ews o< A
(3) g7 I At
(4) Fg difde fAw =t

“wier Vidt et oyt fed wimg @ mOt
"5, " feo mag faw aoet fed set
et 7

(1) Egabut

(2) garF =7 gyr

(3) Har

(4) &7 St sfoat

‘afe atest’ umga few wowr afesr,
‘g faw € a9 37
(1) matew wfaa

(2) wifi=T ylaw
(3) FEwlz u3T

(4) fag aww

'‘TATr Adar fa@' afear faw & aoar
g7

(1) faw gwe

(2) Fawtz uIg
(3) ufesws fnu
(4) 4. vas fiw

Level-3/163

(23)

127.

128.

129,

130.

A

‘e gadl’, aed @ ufo® e & g4t
faas ufow &t &7

(1) ufenrsr

(2) dstog
(3) &=t
(4) #8ug

‘A% Aoz’ g ©F ygHd g2 J7
(1) Uwrdt wfog mamat, sfmrer
(2) Gt wfog mer, fdat

(3) Umrdt nrent, feat

(4) v fegmar, daw, ufowsr
Fgaet : “fasfanr Ffewr d@ha e @
faw =aar § fageet 97

(1) Ug fors saar

(2) mfodt €9 s=ar

(3) mfoet Wo =gar

(4) feviters saar

Fur Fgoel dafs few d= faashrt
Far=tut 957

(1) 15
(2) 12
(3)
(4) 10

14

P.T.O.



131,

132}‘

133.

134,

(24)

7. a0 fguEs e wae faud rs few
dfemyr 2

(1) 5 Ad=d, 1889
(2) 5 Ad=T, 1888
(3) 5 AfEg, 1987

(4) 5 Adgg, 1890

Ut g few fd3 yag & awg 957
1y 3=

(2) famumar

(3) dw

(4) wis

fegt fed uzste fagar I7

(1) =eges

(2) faemat

(3) Gwer

(4) fower

featalt ‘gmie’ few swar o uzat e
at &t g7

(1) Har

(2) Afezat

(3) @&

(4) star
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135.

136.

137.

1 EEI

B I S 93 wre =B wiww § S
e T5 7

(1) =ar
(2) wiug
(3) ®arug

(4) wiga

4, wfow fiw = say a& Sfenwr?
(1) 1994 €t
(2) 1894 =t
(3) 1794 €.

{4) me feasy asT om

UITIE AEH Al & gusT a9 g9t
(1) 16 =t ret
(2) 15 =t At
(3) 12 &F met
(4) 14 =¥ met

Urmdt & ‘ge o foE faaser 37
(1) ufewsr

(2) Hoat

(3) wifEra

(4) #8ug



(25) A

139. Fwar dewet wwww faod wfow 3 143, fem nre § o &9 :

fesamrer 37 F i 9T wr & f.....§ SR
(1) ufenrs (1) Hfea
(2) sfower (2) gEEnrd
(3) WEAT @3 w7
(4) wEug (4) ow
140. @&t fiw sser fanst 39 few Qwr 144. f0F mae @ =& & mAEet § wuR

Aaas A7 few a7, 85" § at e 757
(1) e goee ay G
(2) Warawr geArs fiw

(2) Fdua
(3) Ty Tfde fiw
4) 73 feamy awa 75 (3) femmz

(4) &=

141. “g7 € fev dv ust At wfeee

&5 wisa 87 &, 7o nraw R 145. ‘mait & ot aoet e dyw d= 37
Quigz afe et 4. Wow fiw & fam (1) Gy fiwr wrfed
afear fev 057
(2) e (3) & fiw
%) e (4) wwtg &9
(4) wang

146, ‘Wioow' awer faw war F ygfas der
142, daw &t aw v faost &7

G
(1) fa=t (1) ufewrsr
(2 s (2) HihEwa
(3) Anfgz (3 fest
(4) vast (4) &
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147. g 37 swew #t o matet-femw oF) 149. J5 &3 st fos gefouws filw
(1) 11 <=3, 1575 s faromivmew 7
(1) feg ower wieer
(2) 11 =<3, 1475
(2) »fg fufwr 25
(3) 11 =398, 1675 @) By & #r
(4) 11 =@=w, 1775 "(4) wat & St

148. FaRE WTElE @ "aW ae ey 150. v @ afesr ‘G=x =@z’ T &t =

(1) 699 yaw &, o

(2) 599 yaw e, (1) wrdwsr mit

(3) 999 yow €. ) e
(3) W At

(4) 799 vaw &,

(4) wd feasy a=zT ox
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13. apefi = when dfw /T8 § vy ad @ effee
R & uramEeE, oy gvfetton @rma o afte,
UAY, HEaTgd W, FaFam a7 e A W
& wEah w1 @ W o gudrT we A sl T8

14, wiiE®m 5™ o R wew el e waw ol
(&= o) [

15. @ aners o w¥ws & fdm sl & fen
areft s e A et \

16, T WHEE B ¥0F] 9 =96 fe o Erford-

JRm-fda g wit Pt oq At W
iy we weel o W Wt o e
ard & et 1@ @ AR B
18, foeft om # wfen gfterm ofR IR wEw @ @
T A T
zn.mmﬁ%mwﬁw;mmﬂﬂqam
wiitms wt e Wi ¥ anaedf e we g
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6. Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e 0O ®
The answer will be treated wrong, if it is marked, as
given below :

@ ® © ©

If you fill more than one circle it will be treated as a
WIONg answer.

7. Rough work should be done only in the space provided
in the Test Booklet for the same,

8. The answers are (o be recorded on the OMR Answer
Shest only. Mark your carefully. No whitener
{white fluid) is allowed for changing answers.

9. Out of the four alternatives for each guestion, only one
circle for the most a riate answer is to be dar
completely with Blue/Black Ball Foint Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

10. The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else excepl
in the specified space in the Answer Sheet.

11. Handle the Test Booklet and Answer Sheet with care, as
under no circumslances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will net be provided.

12. The candidates will write the correct Number as given in
the Test Booklet / Answer Sheet in the Attendance Sheet.

13. Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall /room.

14. Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

15. No candidate, without special of the
Superintendent or Invigilator, should leave his/her seat.

16. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice,
Cases where a candidate t:s not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female condidates have to offic right hand thumb
impression whereas male candidates have to affix hand
Hiumb i o on He OMR answer sheet al the place
specified which should be properly inked ie. they should not be
either over inked or dried in nature.

17. Use of Electronic/Manual Caleulator is prohibited.

18. The candidates are governed by Guidelines,/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

19. No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

20, On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room,/Hall
The candidates are allowed to take away this Test
Booklet with them.
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